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Goal w Resonance is to assess

Relative stability
By look at how charge

is delocalized

delocalized means to spread out

distribute

The more delocalized a charge is

the more stable it is

The of structures is a measure of
delocalization

We want to count onlythose structures

that move the charge
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You need lots of resonance practice
O'Chem as Second language
Text book

Jason'sPractice sheet

Satsang

Next up Relative Acid Base

Chem its skill

Ka understanding plea
logkapka Not how to calculate

just the meaning
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